
Order of Operations Name:

Evaluate

Show your work

Evaluate

Show your work

Evaluate

Show your work
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4
2 ÷ (2+6) =?

28 40

2 14

4
4 ÷ (6+2) =?

34 32

8 45

3
3 ÷ (4+5) =?

12 3

5 15

#1

#2

#3
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5
3 ×(63+63) =?

1395 19125

27063 34875

3
2 × (53+40) =?

765 495

1485 265

4
2 × (43+92) =?

−448 348

2496 624

#4

#5

#6
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3
4 ÷ (4+5) =?

15 9

11 25

3
2 ÷ (3+6) =?

21 18

9 1

2
2 ×(63+2) =?

856 436

872 146

#7

#8

#9
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5
2 ×(62+76) =?

560 2800

976 −1000

4
4 × (53+59) =?

736 47104

16896 160059

3
4 ×(62+68) =?

−2592 312

105044 8424

#10

#11

#12



Order of Operations Answer Key

Question Answer

#1 choice 3

#2 choice 2

#3 choice 2

#4 choice 4

#5 choice 3

#6 choice 3

#7 choice 2

#8 choice 4

#9 choice 3

#10 choice 2

#11 choice 2

#12 choice 4
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